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1/27 - Scale Model and Map Problems using Proportion
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Find theXdistance between Milton and
Centerville 1f they are Ai%aga_[t on a map
with a scale of(2 cm : 5 km.

ZCXV\ — _46%/\ -




Johnstown and Ashville are 20 m1 from
each other. How far apart would the cities
be on a map that has a scale of 2 in : 5 mj?
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How big is the original?
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Adiecasoepke Toys Jaguards)  Real ca
XK120 from 1955. One of two car models

the company made, this model ' X: ( 7 5

(440 mm) long. (in The Children's Museum of
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A model plane 1s 6 cm tall,| If it was built
with a scale 01( 2 cm : 5 m|then how tall 1s
the real plane?
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A model 1gloo has a scale of 4 1in : 8 ft. If
the real 1gloo 1s 16 ft wide then how wide 1s
the model 1gloo?
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